AN ROINN OIDEACHAIS
(Department of Education).

BRAINNSE AN MHEAN-OIDEACHAIS
(Becondary Education Branch).

INTERMEDIATE CERTIFICATE EXAMINATION, 1034,

-

LOWER COURSE,
SCIENCE (Syllabus B).

FRIDAY, 15th JUNE.—ArterNooN, 4 10 6 PM,

[Not more than siz questions to be attempted. All the:_
questions are of equal value. Tllustrate your answers wherever
possible].

1. Write a short acecount of an experiment you have seen
performed to show that air exerts pressure. Deseribe a gimple
apparatus that ean be used for measuring the pressure of the air,

2. Two lead eylinders, A and B, each having the same volume,
when hung from the seale pans of a balance, maintain the beam|
in a horizontal position. If eylinder A is immersed in water, the 8
balance is disturbed. Which eylinder is now apparently the
heavier? Give the reason for your answer. How would you find
the speeific gravity of the lead eylinders?

3. Write a short note on the behaviour of water as its tempera-=
ture is raised from 0° C to 8° C. Account for the formation of3
ice on the surface of a pond. Mention some effects that would
follow if ice started forming at the hottom. -

4. What is the principle of the lever? Give an example of &
lever in common use. A lever is 3 feet long and weighs fivé
pounds. Where must the fulerum be placed so that a weight ﬂfl."
800 1bs. at one end shall be balanced by 60 1bs. at the other end?
Give sketeh to illustrate.
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te what happens when (a) a candle, (b) phosphorus are
i in air. Describe any experiments you have seen per-
d in support of your statements.

ne any two acids (other than nitric acid) and any two
th whieh you are familiar. Deseribe the chemieal and
properties of each. Tabulate your answer. How is
d prepared?

gscribe, with the help of a sketeh, an experiment you have
ormed to prove that germinating seeds breathe. What
s are neeessary for germination? What evidence have
apport of your answer?

are the main differences hetween (¢) a dicotyledonous
monoeotyledonous seed, (b) a dicotyledonous leaf and
otyledonous leaf? Use sketehes to illustrate your answer.

a short account of the occurrence and funetion of fire
following :—(a) stomata, (b) voot-cap, (¢) petals.
tils, (e) root-hairs, (f) lentieels, (g) sepals.

ke a labelled drawing showing what ean be seen in a
it through symmetrieally. 'What is the funetion of the

Deseribe, with sketehes, the bones surrounding the thoracic
“and show how they are attached to one another.

sribe the oreans of respiration and illustrate wvour
THow does expired air differ from ordinary air?




